
Ratio Test MC 

14. The sum of the infinite geometric series 
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6. What are all values of p for which 
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A)  p < -1 B)  p > 0 C)  p > ½  

D)  p > 1 E)  There are no values of p for which this integral converges 

 

 

 

 

 

4. Consider the series 
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12. Which of the following series converges for all real numbers of x? 

 

1

)  
n

n

x
A

n





  
2

1

)  
n

n

x
B

n





  
1

)  
n

n

x
C

n





  
1

)  
!

n n

n

e x
D

n





  
1

!
)  

n

n
n

n x
E

e





  

 

 

 

 

 

 

 

 



15. What are all values of x for which the series 
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A) -1 < x < 1  B)  x > 1 only  C) 1x  only 

 

E)  x < - 1 and x > 1 only F)  1  and  x 1x     
79. Le f be a positive, continuous, decreasing function such that an = f(n).  
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82.  If 
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22. If  lim
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is finite, then which of the following must be true? 
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18. Which of the following series converge? 
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(A)  None (B) II only     (C)  III only     (D)  I and II only (E)  I and III only 

 

84. What are all values of x for which the series   
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 1x1-  (E)     1x1-  (D)     -1x3-   (C)          -1x3-  (B)         -1 x 3-  )( A  

 

 

 

20. What are all values of x for which the series   
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5x1-  (E)     5x1-  (D)    5x1-   (C)          3x3-  (B)         3 x 3-  )( A  

 

 

 

24. Which of the following series diverge? 
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A)  III only B)  I and II only C)  I and III only  

D)  II and III only E)  I, II, and III 

 

 

 

 

22. What are all values of p for which the infinite series 
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 converges? 

 

A)  p > 0    B)  1p   C)  p > 1 D)  2p      E)  p > 2 


